M) (2432 HeEiE) 718 tiH &

7k

Klo

D RTIHM(HEAS B Ar

oMY

1.

H|

A

Ho

F7IEM (B EH

L|c}. cjatl

=

=

of ot

H2=x=

L|C}.

b

jol

=

ol

Nes+=2S

H3x

ol

712 ot XF++BE

.
o

LtO|
==

of CHstol =

OH

=1
O

: 20164 123 18Y

sHol
ollE

HEA

2.

M)

|

RO
<

L]

ol

gl

cH

al
x

Ho

M(EEH|

.l

KO
ol

F

=7t

)

il

1S

Ljch. chak o
7)o

=

=

=

=

of ot

H2=

hzof

hz oy

9L cisolxt

=

2 gL

O~@ (|72

H3x

LRSS

i
[=3

CH3HO

of
10%2

=

=10
[=]

!

jolt

HOf OF

10
A1

K

moll=

A g5t7| = ot A

-
o

oL

L|C}.

I

=

o
[s)

& 10%=2

L|C}.

I

=

o
[s)

™

A++ESS




olo
N

=
0
1Bl

10

PES

ojn

ofl

—

FEASEH

—

pr
—

As NESHH XSO|H et

=
=

9|5}6
Stof

Ol CHSHOl= 2% 2| RS O|H|

o

2l of

H5x
He6x

Af

7l

F)

il

o=

@~® (71Me

Ve

CH & Ol A}

)=
HEA
o

ol

i

S R

et | x+-s Ol A

Z=0f

L|C}.

|

=

o
o

2

H
tH At OfH <t

-

>0
e marz

—

Al X
—

(¢] 3|
2

o
As

=
=

Stof

1Ol

N
2]

=510

Atetof tistod= 22l AHSOlH|

I1M-d=h

At Ol A
ol

H5x
Hex

el 7 2l

2o
— =
(1™ 4=

N R
AL




